

UCLA

UCLA Previously Published Works

Title

The Initial Symptom and Motor Progression in Spinocerebellar Ataxias

Permalink

<https://escholarship.org/uc/item/31k4794x>

Journal

The Cerebellum, 16(3)

ISSN

1473-4222

Authors

Luo, Lan

Wang, Jie

Lo, Raymond Y

et al.

Publication Date

2017-06-01

DOI

10.1007/s12311-016-0836-3

Peer reviewed



Published in final edited form as:

Cerebellum. 2017 June ; 16(3): 615–622. doi:10.1007/s12311-016-0836-3.

The Initial Symptom and Motor Progression in Spinocerebellar Ataxias

Lan Luo, MD^{#1}, Jie Wang, PhD^{#2,1}, Raymond Y Lo, MD, PhD³, Karla P Figueroa, MS⁴, Stefan M Pulst, MD⁴, Pei-Hsin Kuo, MD^{1,3}, Susan Perlman, MD⁵, George Wilmot, MD, PhD⁶, Christopher M Gomez, MD, PhD⁷, Jeremy Schmahmann, MD⁸, Henry Paulson, MD, PhD⁹, Vikram G Shakkottai, MD, PhD⁹, Sarah H Ying, MD¹⁰, Theresa Zesiewicz, MD¹¹, Khalaf Bushara, MD¹², Michael Geschwind, MD, PhD¹³, Guangbin Xia, MD¹⁴, SH Subramony, MD¹⁴, Tetsuo Ashizawa, MD¹⁵, and Sheng-Han Kuo, MD¹

¹Department of Neurology, College of Physicians and Surgeons, Columbia University, New York, New York, USA.

²Department of Basic and Community Nursing, School of Nursing, Nanjing Medical University, Nanjing, Jiangsu, China.

³Department of Neurology, Buddhist Tzu Chi General Hospital and Tzu Chi University, Hualien, Taiwan.

⁴Department of Neurology, University of Utah, Salt Lake City, Utah, USA.

⁵Department of Neurology, University of California Los Angeles, California, USA.

⁶Department of Neurology, Emory University, Atlanta, Georgia, USA.

Correspondence: Dr. Sheng-Han Kuo, 650 West 168th Street, Room 305, New York, NY 10032, USA. Tel: (212) 342-3753, Fax: (212) 305-1304, sk3295@columbia.edu.

Disclosure: The authors report no conflicts of interest.

Author Contributions:

Dr. Luo: study concept and design, statistical analysis and interpretation, writing the manuscript, critical revision of the manuscript for important intellectual content.

Dr. Wang: study concept and design, statistical analysis and interpretation, critical revision of the manuscript for important intellectual content.

Dr. Lo: revision of the manuscript for important intellectual content.

Ms. Figueroa: study concept and design, **acquisition of data**.

Dr. Pulst: study concept and design, acquisition of data, critical revision of the manuscript for important intellectual content, study supervision.

Dr. Perlman: **acquisition of data**.

Dr. Wilmot: **acquisition of data**.

Dr. Gomez: **acquisition of data**.

Dr. Schmahmann: **acquisition of data**.

Dr. Paulson: **acquisition of data**.

Dr. Shakkottai: **acquisition of data**.

Dr. Ying: **acquisition of data**.

Dr. Zesiewicz: **acquisition of data**.

Dr. Bushara: **acquisition of data**.

Dr. Geschwind: **acquisition of data**.

Dr. Xia: **acquisition of data**.

Dr. Subramony: study concept and design, acquisition of data, study supervision.

Dr. Ashizawa: study concept and design, acquisition of data, critical revision of the manuscript for important intellectual content, study supervision.

Dr. Kuo: study concept and design, acquisition of data, analysis and interpretation, critical revision of the manuscript for important intellectual content.

⁷Department of Neurology, University of Chicago, Chicago, Illinois, USA.

⁸Department of Neurology, Massachusetts General Hospital, Harvard Medical School, Boston, Massachusetts, USA.

⁹Department of Neurology, University of Michigan, Ann Arbor, Michigan, USA.

¹⁰Department of Neurology, Johns Hopkins University, Baltimore, Maryland, USA.

¹¹Department of Neurology, University of South Florida, Tampa, Florida, USA.

¹²Department of Neurology, University of Minnesota, Minneapolis, Minnesota, USA.

¹³Department of Neurology, University of California San Francisco, California, USA.

¹⁴Department of Neurology and McKnight Brain Institute, University of Florida, Gainesville, USA.

¹⁵Houston Methodist Research Institute, Houston, Texas, USA.

These authors contributed equally to this work.

Abstract

Objective—To determine whether the initial symptom associates with motor progression in spinocerebellar ataxias (SCAs).

Background—SCAs are clinically heterogeneous and the initial presentation may represent different subtypes of SCA with different motor progression.

Methods—We studied 317 participants with SCA1, 2, 3, and 6 from the Clinical Research Consortium for SCAs (CRC-SCA) and repeatedly measured the severity of ataxia for 2.5 years. SCA patients were divided into gait-onset and non-gait-onset (speech, vision, and hand dexterity) groups based on the initial presentation. In addition to demographic comparison, we employed regression models to study ataxia progression in these two groups after adjusting for age, sex, and pathological CAG repeats.

Results—The majority of SCA patients had gait abnormality as an initial presentation. The pathological CAG repeat expansions were similar between the gait-onset and non-gait-onset groups. In SCA1, gait-onset group progressed slower than non-gait-onset group, while gait-onset SCA6 group progressed faster than their counterpart. In addition, the disease presented nine years later for SCA2 gait-onset group than non-gait-onset group. Initial symptoms of SCA3 did not influence age of onset or disease progression.

Conclusions—The initial symptom in each SCA has a different influence on age of onset and motor progression. Therefore, gait and non-gait-onset groups of SCAs might represent different subtypes of the diseases.

Keywords

spinocerebellar ataxias; subtypes; cerebellum; neurodegeneration

INTRODUCTION

Spinocerebellar ataxias (SCAs) are a genetically and clinically heterogeneous group of autosomal-dominant neurodegenerative disorders, characterized by various cerebellar features: gait difficulty, vision abnormalities, loss of limb dexterity, and speech disturbances [1]. SCA 1, 2, 3, and 6 account for the most common types of inherited ataxias and are caused by CAG repeat expansions within their respective genes [2]. The length of pathological CAG repeats is predictive of approximately 50-70% of age of onset [3-5], but there is still significant variability in age of onset and motor progression even among SCA patients with the same pathological CAG repeat numbers.

The initial clinical symptoms in neurodegenerative diseases may be of prognostic value. For example, Parkinson's disease (PD) can be divided into tremor dominant or postural instability and gait difficulty (PIGD) subtypes, with the tremor dominant PD subtype having an earlier age of onset, slower motor progression, and less cognitive impairment [6-10]. This concept of disease subtypes based on clinical presentations has not yet been applied to SCAs, and thus we studied whether the initial symptom would be predictive of ataxia progression in SCA1, 2, 3, and 6.

PATIENTS AND METHODS

Patient selection

The study subjects were evaluated by ataxia specialists during January 2010-August 2012 from 12 participating centers of the Clinical Research Consortium for SCAs (CRC-SCA) [11]. These SCA patients were either self-referred to specialty clinics or through community physicians, local support groups, and the National Ataxia Foundation. The local institutional review boards approved the uniform study protocol and informed consents were obtained from all participants. Our inclusion criteria were 1) the presence of ataxia, 2) definite genetic diagnosis of SCA1, 2, 3, or 6 either for the subject or another affected family member with ataxia, 3) willingness of participation, and 4) age of 6 years and older. The exclusion criteria were 1) known recessive, X-linked, and mitochondrial ataxias, 2) exclusion of SCA1, 2, 3, and 6 by genetic tests, 3) concomitant disorder(s) that affect ataxia measurements used in this study. Face-to-face interviews were done with each patient by ataxic specialists and the basic demographics and the presenting symptoms were recorded, including the initial ataxic symptoms: gait, speech, vision, and hand abnormalities. All participants were asked to provide blood samples for SCA genotyping. Subjects were followed every 6 months until 2 years from the baseline visit or until the end of August 2012 when the study was closed. In each visit, a trained ataxia expert scored the severity of ataxia by the Scale for Assessment and Rating of Ataxia (SARA) [11], evaluated the functional capacity using Unified Huntington's Disease Rating Scale part IV (UHDRS-IV) [12], scored the overall health status using EQ-5D [13], and assessed depressive symptoms by PHQ-9 questionnaire [14], which has been applied in SCA population [15-17].

Genetic Testing

DNA samples from blood of 213 participants were obtained and the CAG repeat expansions were determined in Dr. Stefan Pulst's laboratory (SCA1: 34, SCA2: 46, SCA3: 86, SCA6: 47). The Qiagen FlexiGene DNA Kit (Qiagen, Hilden, Germany) was used to extract DNA and CAG repeat expansions of SCAs were determined by multiplex polymerase chain reaction, followed by capillary electrophoresis with internal standards. Re-genotyping and Sanger sequencing were performed for verification of repeat length in 10% of all samples. For 86 patients whose blood samples were not available in the research lab, we used the repeat numbers from the commercial labs.

Predictor Variables

Ages of onset of any ataxic symptoms including gait abnormality, hand clumsiness, visual disturbances, and speech abnormality were collected. According to the reported age at symptom onset, each subject was then categorized into the gait-onset group if walking abnormality was the first symptom or one of the first symptoms exhibited, or the non-gait-onset group if the other three symptoms (hand, vision, and speech) occurred prior to the walking abnormality. The presence or absence of gait abnormality as a first manifestation of disease was used as a major predictor and was treated as a dichotomous variable.

Outcome Variables

SARA, our primary outcome, measured motor performance with a total score ranging from 0 to 40. Higher SARA scores reflected worse motor performance. UHDRS-IV was used to assess functional performance in daily activities through 25 questions. One point was given to each question with a "yes" reply, with the score ranging from 0 to 25. Higher UHDRS-IV scores indicated better functional performance. The EQ-5D used five areas including mobility, self-care, usual activities, pain/discomfort, anxiety/depression, to assess global health status with three rating levels (no problems = 0, some problems = 1, extreme problems = 2), ranging from 0 to 10 in total. The PHQ-9 used nine questions to assess depressive mood over the previous two weeks and four levels were scored (not at all = 0; several days = 1; more than half the days = 2; nearly every day = 3) for each question, ranging from 0 to 27 in total; higher scores reflected more severe depression. The above outcome measures were all treated as continuous variables.

Statistical Analysis

We first assessed whether each of basic demographics of SCAs is normally distributed using Kolmogorov-Smirnov test. For normally distributed variables, we used Student's t-test to compare gait-onset with non-gait-onset groups. For non-normally distributed variables, we used the Mann-Whitney U-test to compare gait-onset with non-gait-onset groups.

SCA1, 2, 3, and 6 were treated as four independent cohorts and analyzed separately. Chi-squared tests, two-independent samples t-tests, two-independent samples Mann-Whitney U tests were used to compare baseline demographics between the gait-onset vs. the non-gait-onset subgroups within each of the four SCA groups. We used repeated-measures linear regression (an exchangeable working within-subject correlation model by a generalized estimating equation [GEE]) to compute the average rates of disease progression in gait-onset

group and non-gait-onset group of each SCA type after controlling for age, sex, pathological CAG repeat number. SCA6 has been shown to have a non-linear disease progression [18], implying that the motor symptom progression might differ at different disease time points; therefore, we performed a secondary analysis to additionally adjust for the disease duration in SCA6.

The longitudinal patterns of ataxia progression of the two groups (gait-onset vs. non-gait-onset) during the two-year observation were assessed by entering the interaction terms (subtype $\times$ time) into the GEE models. Coefficients of the interaction terms reflected how the rate of motor progression differed by the presence of gait disturbance as the first manifestation of SCAs. All statistical analyses were performed using SPSS software (version 23).

RESULTS

A total of 317 SCA patients participated in the study (SCA1: 52, SCA2: 69, SCA3: 128, SCA6: 68). Gait abnormality presented as the first symptom in over 80% of the SCA patients (SCA1: 92.3%, SCA2: 87%, SCA3: 87.5%, SCA6: 83.8%, $p = 0.585$). The sex ratio, number of pathological CAG repeats, baseline SARA, UHDRS-IV, PHQ-9, and EQ-5D scores were similar between gait-onset group and non-gait-onset groups in each SCA cohort (Table 1). While the age of disease onset were comparable for gait-onset and non-gait-onset group of SCA1, SCA3, and SCA6 (SCA1: gait-onset 40.4 ± 11.6 vs. non-gait-onset 37.8 ± 14.6 , $p = 0.671$; SCA3: gait-onset 38.0 ± 11.5 vs. non-gait-onset 37.8 ± 13.5 , $p = 0.932$; SCA6: gait-onset 52.2 ± 9.8 vs. non-gait-onset 49.4 ± 14.2 , $p = 0.554$), SCA2 gait-onset group developed disease nine years later than the non-gait-onset group (gait-onset 37.2 ± 11.4 vs. non-gait-onset 28.2 ± 14.8 , $p = 0.039$). The SCA3 non-gait-onset group had six year longer disease than their counterpart at the first visit (non-gait-onset 18.2 ± 9.5 vs. gait-onset 12.6 ± 7.4 , $p = 0.019$).

In the linear regression models adjusting for age, sex, and pathological CAG repeat numbers, gait-onset group and non-gait-onset group had similar baseline SARA scores for all the SCA groups (SCA1: $\beta = -4.89$; SCA2: $\beta = -2.84$; SCA3: $\beta = 1.97$; SCA6: $\beta = -2.14$, all $p > 0.05$) (Table 2). Additionally, gait-onset group and non-gait-onset group in each SCA cohort did not differ in their baseline UHDRS-IV, PHQ-9 or EQ-5D scores (Table 2).

Gait-onset SCA1 patients had slower ataxia progression in SARA scores than non-gait-onset SCA1 patients ($\beta = -1.03$, $p = 0.005$). In SCA6 patients, the gait-onset group deteriorated faster than the non-gait-onset group ($\beta = 1.60$, $p < 0.001$) (Table 3). In our secondary analyses adjusting for disease duration, the gait-onset SCA6 patients still had faster motor progression than non-gait-onset SCA6 patients (SARA: $\beta = 1.70$, $p < 0.001$). In SCA2, gait-onset group had slower progression of UHDRS-IV scores compared to non-gait-onset group ($\beta = -0.83$, $p = 0.036$). In SCA3, gait-onset group and non-gait-onset group did not differ in the rate of ataxia progression. Otherwise, we did not observe any differences in the progression of UHDRS-IV, ED-5D, or PHQ-9 between gait-onset group and non-gait-onset

groups in SCAs (Table 3). These outcome variables of the last visit were also listed as the Supplemental table 1.

Among the non-gait-onset symptoms, visual disturbance as the initial symptom was particularly common in SCA3 and SCA6 (2 SCA1 (3.8%), 1 SCA2 (1.4%), 14 SCA3 (10.9%), 7 SCA6 (10.3%)).

DISCUSSION

Walking problem presented as the initial symptom in over 80% of our patients with SCAs, more often than an earlier study by Globas et al [19]. Interestingly, gait-onset SCA patients differed in age of onset and motor progression. Gait abnormality as an initial motor symptom is associated with a slower progression in SCA1, a later age of onset in SCA2, and a faster progression in SCA6; however the motor associations did not extend to non-motor symptoms of SCAs such as depression. Functional status measured by UHDRS-IV (except SCA2) or quality of life measured by EQ-5D was not associated with gait abnormality as the initial symptom either. SCA2 patients commonly have postural and action tremors in the upper extremities which may cause severe functional impairment leading to lower UHDRS-IV scores [20, 21]. It is possible that SCA2 patients with initial symptoms of upper limb tremor may be more functionally disabled in their daily activities than SCA2 patients with initial symptoms of gait difficulty. These possibilities deserve further investigation.

The initial symptoms of SCAs are of prognostic value in predicting distinct disease courses. Our findings highlight the importance of studying the heterogeneity of SCAs since the initial symptoms of SCAs might represent different subtypes with distinct prognoses. Each of the SCAs likely shows different neurodegeneration patterns initially which extends to more widespread regions of the brain as the disease progresses [22, 23]. This concept has been applied to other neurodegenerative disorders such as PD. In PD, the tremor dominant subtype has slower motor progression and a lower risk of dementia than those with PIGD subtype [6-10]. In addition, tremor dominant PD has less gray matter atrophy and more functional connectivity when compared to PIGD dominant PD [24], suggesting that clinical subtypes might reflect the underlying different neuropathological substrates. In a similar fashion, our findings that gait- and non-gait-onset SCA subtypes correlate differently with age of disease onset and motor progression support the idea of the heterogeneity of SCA pathology [22]. For example, non-gait-onset SCA2 subtype having an earlier disease when compared its gait-onset subtype may reflect earlier disease pathology in the visual/ oculomotor and speech centers of the brain [22, 23]. Interestingly, initial symptoms in SCA3 do not affect age of onset or disease progression, which may be attributed to its distinct pathology with relative preservation of Purkinje cells and cerebellar cortex when compared to the other three SCA types [22]. These possibilities of distinct patterns of progression in ataxia subtypes also should be probed further.

SCA patients can have very diverse clinical presentation in addition to ataxia; therefore, the initial symptoms can vary in different SCAs. SCA1 patients often show pancerebellar ataxia, lower extremity spasticity, oculomotor signs, extrapyramidal syndrome in the later stage of disease course, and polyneuropathy in cases with a high CAG repeat numbers [20, 21].

SCA2 patients can have slow saccades, postural and action tremor, polyneuropathy, upper motor neuron signs, and parkinsonism, which could be a predominant feature in some cases. SCA2 cases with longer CAG repeats also often have myoclonus, dystonia, and myokymia [20, 21, 25]. SCA3 patients can have spasticity and oculomotor abnormality and SCA3 can be further divided into 5 subtypes. Type 1 SCA3 patients have early onset ataxia with marked pyramidal signs along with dystonia, proptosis, and facial and lingual fasciculations. Type 2 SCA3 patients have intermediate age of onset of ataxia and commonly have polyneuropathy. Type 3 SCA3 patients have late onset of ataxia and have prominent spasticity, polyneuropathy, and ophthalmoplegia. Type 4 SCA3 patients have predominant levodopa-responsive parkinsonism, polyneuropathy, and fasciculations. Type 5 SCA3 patients have spastic paraparesis [26]. SCA6 patients have relatively pure cerebellar ataxia syndrome [20, 21]. Clinical presentations of SCAs are closely linked to the size of CAG repeats. For example, a larger repeat size in SCA1 is associated with motor neuron signs [21] and SCA3 subtypes are also largely determined by the repeat size as well [26]. Interestingly, we did not find any differences in the CAG repeat numbers between gait-onset and non-gait-onset cases in each SCA (Table 1), showing that CAG repeat numbers do not play a major role in determining the initial presentations of SCAs.

Interestingly, we found that visual disturbances as the initial symptom is common in SCA3 cases, consistent with a previous report [19]. Our study also showed SCA6 patients also commonly have visual disturbance at the disease onset. Thus, clinicians should consider these two genetic forms for ataxia when encountering ataxia with vision problems as the initial symptom.

One of the major limitations is that we did not have information on the specific etiology leading to classification within the four broad initial symptom categories. Gait abnormalities in SCAs are heterogeneous in phenotype and may reflect various etiologies, including the wide-based gait due to ataxia or the slow and shuffling gait of parkinsonism or the stomping gait from peripheral neuropathy. Vision problems may be due to diplopia or reduced visual acuity which can be embedded within the four types of SCAs studied. Our study did not directly address the specific types of symptoms leading to visual disturbance or gait abnormality, and better characterization of initial symptoms could potentially lead to a better predictive value for ataxia progression. Furthermore, since approximately 8-18 years lapsed between the onset of the diseases and the first visit, it is difficult to know the exact nature of the initial symptoms and their precise timeline. Also, the two-year observation period may not be long enough to fully examine the progression of SCAs. Finally, non-motor features of SCAs also progress over time [18], and the initial symptoms could affect the progression rate of non-motor features; however, non-motor features were not measured longitudinally in the current study. Our study has several strengths. First, this is a large, multi-center, prospective study that characterizes the motor and non-motor progression of SCA1, 2, 3, and 6 in North America. Second, we used standardized and validated rating scales to assess both motor features (SARA) and non-motor features (PHQ-9, UHDRS-IV and EQ-5D) [11-14] making our study results more likely comparable. Third, both pathological CAG repeat number and disease duration, two major factors impacting disease progression in SCAs, were accounted for in this study [3-5].

In conclusion, our study indicated that the initial symptom of SCAs is closely associated with the age of onset and motor progression. In agreement with previous studies, the majority of SCA patients had gait abnormality as an initial presentation. Additionally, gait abnormality as an initial motor symptom is associated with a slower progression in SCA1, a later age of onset in SCA2, and a faster progression in SCA6. Gait- and non-gait onset groups within each SCA may represent different subtypes of SCAs and may reflect distinct underlying pathology. Future studies should focus on the detailed characterization of the initial symptoms in a larger sample size with longer follow-up to further strengthen our findings.

Supplementary Material

Refer to Web version on PubMed Central for supplementary material.

ACKNOWLEDGEMENTS

Funding: NINDS K08 NS083738, Louis V. Gerstner Jr. Scholarship, American Brain Research Training Fellowship, Parkinson Disease Foundation, American Parkinson's Disease Association, Rare Disease Clinical Research Network (RDCRN) (RC1NS068897), International Essential Tremor Foundation, and NIEHS pilot grant ES009089, the Smart Foundation, Jiangsu Government Scholarship for Overseas Studies, Qing Lan Project, and the Key Discipline Development Project (JX10617801) of Jiangsu Province, China.

References

1. Durr A. Autosomal dominant cerebellar ataxias: polyglutamine expansions and beyond. *Lancet Neurol.* 2010; 9:885–894. [PubMed: 20723845]
2. Lo RY, Figueroa KP, Pulst SM, Perlman S, Wilmot G, Gomez C, et al. Depression and clinical progression in spinocerebellar ataxia. *Parkinsonism Relat Disord.* 2016; 22:87–92. [PubMed: 26644294]
3. Orr HT, Chung MY, Banfi S, Kwiatkowski TJ, Servadio A, Beaudet AL, et al. Expansion of an unstable trinucleotide CAG repeat in spinocerebellar ataxia type 1. *Nat Genet.* 1993; 4:221–226. [PubMed: 8358429]
4. Schöls L, Amoiridis G, Büttner T, Przuntek H, Epplen JT, Riess O, et al. Autosomal dominant cerebellar ataxia: phenotypic differences in genetically defined subtypes? *Ann Neurol.* 1997; 42:924–932. [PubMed: 9403486]
5. Stevanin G, Durr A, Brice A. Clinical and molecular advances in autosomal dominant cerebellar ataxias: from genotype to phenotype and physiopathology. *Eur J Hum Genet.* 2000; 8:4–18. [PubMed: 10713882]
6. Thenganatt MA, Jankovic J. Parkinson disease subtypes. *JAMA Neurol.* 2014; 71:499–504. [PubMed: 24514863]
7. Jankovic J, Kapadia AS. Functional decline in Parkinson disease. *Arch Neurol.* 2001; 58:1611–1615. [PubMed: 11594919]
8. Jankovic J, McDermott M, Carter J, Gauthier S, Goetz C, Golbe L, et al. Variable expression of Parkinson's disease: a base-line analysis of the DATATOP cohort. *Neurology.* 1990; 40:1529–1534. [PubMed: 2215943]
9. Aarsland D, Andersen K, Larsen JP, Lolk A. Prevalence and characteristics of dementia in Parkinson disease: an 8-year prospective study. *Arch Neurol.* 2003; 60:387–392. [PubMed: 12633150]
10. Williams-Gray CH, Foltynie T, Brayne CE, Robbins TW, Barker RA. Evolution of cognitive dysfunction in an incident Parkinson's disease cohort. *Brain.* 2007; 130(Pt 7):1787–1798. [PubMed: 17535834]

11. Schmitz-Hübsch T, Montcel ST, Baliko L, Berciano J, Boesch S, Depondt C, et al. Scale for the assessment and rating of ataxia: development of a new clinical scale. *Neurology*. 2006; 66:1717–1720. [PubMed: 16769946]
12. Huntington study group. Unified Huntington's Disease Rating Scale: reliability and consistency. Huntington Study Group. *Mov Disord*. 1996; 11:136–42. [PubMed: 8684382]
13. Rabin R, de Charro F. EQ-5D: a measure of health status from the EuroQol Group. *Ann Med*. 2001; 33:337–43. [PubMed: 11491192]
14. Kroenke K, Spitzer RL, Williams JB. The PHQ-9: validity of a brief depression severity measure. *J Gen Intern Med*. 2001; 16:606–13. [PubMed: 11556941]
15. Ashizawa T, Figueroa KP, Perlman SL, Gomez CM, Wilmot GR, Schmähmann JD, et al. Clinical characteristics of patients with spinocerebellar ataxias 1, 2, 3, and 6 in the US; a prospective observational study. *Orphanet J Rare Dis*. 2013; 8:177–184. [PubMed: 24225362]
16. Lo RY, Figueroa KP, Pulst SM, Lin C-Y, Perlman S, Wilmot G, et al. Coenzyme Q10 and spinocerebellar ataxias. *Mov Disord*. 2015; 30:214–220. [PubMed: 25449974]
17. Lo RY, Figueroa KP, Pulst SM, Lin C-Y, Perlman S, Wilmot G, et al. Vascular risk factors and clinical progression in spinocerebellar ataxias. *Tremor Other Hyperkinet Mov*. 2015; 5:287–291.
18. Jacobi H, Bauer P, Giunti P, Labrum R, Sweeney MG, Charles P, et al. The natural history of spinocerebellar ataxia type 1, 2, 3, and 6: a 2-year follow-up study. *Neurology*. 2011; 77:1035–1041. [PubMed: 21832228]
19. Globas C, du Montcel ST, Baliko L, Boesch S, Depondt C, DiDonato S, et al. Early symptoms in spinocerebellar ataxia type 1, 2, 3, and 6. *Mov Disord*. 2008; 23:2232–2238. [PubMed: 18759344]
20. Schöls L, Bauer P, Schmidt T, Schulte T, Reiss O. Autosomal dominant cerebellar ataxias: clinical features, genetics, and pathogenesis. *Lancet Neurol*. 2004; 3:291–304. [PubMed: 15099544]
21. Durr A. Autosomal dominant cerebellar ataxias: polyglutamine expansions and beyond. *Lancet Neurol*. 2010; 9:885–894. [PubMed: 20723845]
22. Seidel K, Siswanto S, Brunt ERP, den Dunnen W, Korf H-W, Rüb U. Brain pathology of spinocerebellar ataxias. *Acta Neuropathol*. 2012; 124:1–21. [PubMed: 22684686]
23. Koeppen A. The pathogenesis of spinocerebellar ataxia. *Cerebellum*. 2005; 4:62–73. [PubMed: 15895563]
24. Rosenberg-Katz K, Herman T, Jacob Y, Giladi N, Hendler T, Hausdorff J. Gray matter atrophy distinguishes between Parkinson disease motor subtypes. *Neurology*. 2013; 80:1476–1484. [PubMed: 23516323]
25. Moscovich M, Okun MS, Favilla C, Figueroa KP, Pulst SM, Perlman S, Wilmot G, Gomez C, Schmähmann J, Paulson H, Shakkottai V, Ying S, Zesiewicz T, Kuo SH, Mazzoni P, Bushara K, Xia G, Ashizawa T, Subramony SH. Clinical evaluation of eye movements in spinocerebellar ataxias: a prospective multicenter study. *J Neuroophthalmol*. 2015; 35:16–21. [PubMed: 25259863]
26. Bettencourt C1, Lima M. Machado-Joseph Disease: from first descriptions to new perspectives. *Orphanet J Rare Dis*. 2011; 6:35. [PubMed: 21635785]

Table 1

Baseline features of 317 participants in the CRC-SCA cohort.

	SCA 1			SCA 2			SCA 3			SCA 6		
	Gait-onset	Non-gait-onset	p-value	Gait-onset	Non-gait-onset	p-value	Gait-onset	Non-gait-onset	p-value	Gait-onset	Non-gait-onset	p-value
n (%)	48 (92.3)	4 (7.7)		60 (87.0)	9 (13.0)		112 (87.5)	16 (12.5)		57 (83.8)	11 (16.2)	0.585 ^a
Age at first visit (yrs)	50.9 ± 12.9	46.3 ± 15.7	0.493 ^b	52.4 ± 12.2	42.9 ± 17.3	0.144 ^b	50.6 ± 12.3	55.9 ± 11.8	0.105 ^b	66.5 ± 9.7	60.2 ± 14.5	0.190 ^b
Age of onset (yrs)	40.4 ± 11.6	37.8 ± 14.6	0.671 ^b	37.2 ± 11.4	28.2 ± 14.8	0.039^b	38.0 ± 11.5	37.8 ± 13.5	0.932 ^b	52.2 ± 9.8 Median = 52.0	49.4 ± 14.2 Median = 48.0	0.554 ^c
Disease duration (yrs)	10.6 ± 7.2 Median = 8.0	8.5 ± 7.9 Median = 6.0	0.324 ^c	15.3 ± 8.6 Median = 14.0	14.7 ± 9.3 Median = 14.0	0.789 ^c	12.6 ± 7.4 Median = 12.0	18.2 ± 9.5 Median = 19.5	0.019^c	14.4 ± 11.0 Median = 11.0	10.8 ± 4.9 Median = 9.0	0.605 ^c
Sex, M:W	28:20	1:3	0.310 ^a	32:28	7:2	0.281 ^a	56:56	10:6	0.428 ^a	30:27	8:3	0.323 ^a
CAG repeat	46.0 ± 4.6	48.0 ± 2.5	0.391 ^b	39.4 ± 2.5 Median = 39.0	39.6 ± 7.6 Median = 40.0	0.243 ^c	71.0 ± 4.0 Median = 71.0	70.3 ± 4.1 Median = 71.0	0.432 ^c	22.3 ± 0.8 Median = 22.0	22.5 ± 1.6 Median = 22.0	0.626 ^c
Baseline SARA score	14.1 ± 8.3	19.6 ± 6.8	0.198 ^b	16.7 ± 7.6	16.8 ± 6.1	0.965 ^b	15.2 ± 9.2 Median = 14.0	14.8 ± 6.9 Median = 14.5	0.925 ^c	13.9 ± 7.3	15.0 ± 8.5	0.674 ^b
Baseline UHDRS-IV score	18.9 ± 6.4 Median = 20.0	15.0 ± 4.8 Median = 15.0	0.149 ^c	18.5 ± 6.2 Median = 20.0	19.0 ± 5.0 Median = 19.0	0.978 ^c	17.2 ± 7.0 Median = 18.0	17.0 ± 6.3 Median = 19.0	0.694 ^c	18.6 ± 5.8 Median = 20.0	18.6 ± 5.9 Median = 21.0	0.861 ^c
Baseline PHQ-9 score	5.7 ± 6.4 Median = 3.0	13.0 ± 8.7 Median = 12.5	0.050 ^c	5.4 ± 5.6 Median = 3.5	4.1 ± 3.7 Median = 3.0	0.838 ^c	7.5 ± 6.0 Median = 6.0	6.1 ± 3.6 Median = 5.5	0.573 ^c	6.6 ± 6.0 Median = 5.0	5.6 ± 5.8 Median = 5.0	0.627 ^c
Baseline EQ-5D score	3.0 ± 1.7 Median = 5.0	4.8 ± 1.5 Median = 3.0	0.065 ^c	3.1 ± 1.7 Median = 3.0	2.0 ± 1.2 Median = 2.0	0.064 ^c	3.5 ± 2.1 Median = 3.0	3.8 ± 1.4 Median = 4.0	0.358 ^c	3.1 ± 1.7 Median = 3.0	2.6 ± 1.8 Median = 2.5	0.429 ^c

Abbreviations: CRC-SCA = the Clinical Research Consortium for Spinocerebellar Ataxias; SARA = Scale for Assessment and Rating of Ataxia; UHDRS = Unified Huntington's Disease Rating Scale; PHQ-9 = Patient Health Questionnaire; EQ-5D = quality of life measurement from 5 domains.

Values represent mean ± standard deviation or number, and for variables with non-normal distribution, the median is reported as well.

Values in bold are statistically significant.

^a Chi-square test

^b Two-independent samples t-test

^c Two-independent samples Mann-Whitney U test

Table 2

Baseline SARA, UHDRS-IV, PHQ-9, and EQ-5D scores in gait and non-gait-onset groups.

	Regression coefficients of baseline SARA score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.24	0.31 ***	0.54 *****	0.35 *****
Sex ^b	2.08	-1.25	-0.10	0.29
CAG repeat	0.44	1.00 ***	1.30 *****	1.95 *
Initial symptom ^c	-4.89	-2.84	1.97	-2.14

	Regression coefficients of baseline UHDRS-IV score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	-0.18	-0.14	-0.39 *****	-0.32 *****
Sex ^b	-1.76	0.63	-0.12	0.74
CAG repeat	-0.33	-0.47	-1.16 *****	-1.64 *
Initial symptom ^c	3.34	1.09	-0.80	2.01

	Regression coefficients of baseline PHQ-9 score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.07	0.01	0.17 **	-0.12
Sex ^b	-0.35	-0.54	1.19	-1.17
CAG repeat	0.22	0.01	0.25	-1.36
Initial symptom ^c	-7.18	1.00	2.01	1.56

	Regression coefficients of baseline EQ-5D score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.04	0.04	0.09 *****	0.00
Sex ^b	-0.05	-0.15	0.05	-0.27
CAG repeat	0.12	0.10	0.22 *****	-0.20
Initial symptom ^c	-1.69	0.60	-0.08	0.22

Abbreviations: SARA = Scale for Assessment and Rating of Ataxia; UHDRS = Unified Huntington's Disease Rating Scale; PHQ-9 = Patient Health Questionnaire; EQ-5D = quality of life measurement from 5 domains; SCA = Spinocerebellar Ataxia.

^a All regression coefficients were calculated in linear regression model, adjusting for age of first visit, sex, CAG repeat and initial symptom.

^b Man = 0, Woman = 1

^c Non-gait-onset = 0, Gait-onset = 1

*
 $p < 0.05$

**
 $p < 0.01$

 $p < 0.005$

 $p < 0.001$

Author Manuscript

Author Manuscript

Author Manuscript

Author Manuscript

Table 3

Longitudinal SARA, UHDRS-IV, PHQ-9, and EQ-5D scores of gait and non-gait-onset groups in GEE model.

	Regression coefficients of SARA score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.26	0.30 ****	0.55 ****	0.35 ****
Sex ^b	2.99	-1.68	-0.19	-0.14
CAG repeat	0.56	0.89 *	1.30 ****	2.24 ****
Initial symptom ^c	-5.33	-2.03	2.20	-3.50
Visit time	2.11 ****	0.70	0.37	-0.00
Initial symptom × Visit time	-1.03 **	0.03	-0.02	1.60 ****

	Regression coefficients UHDRS-IV score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	-0.17	-0.14 *	-0.55 ****	-0.23 ***
Sex ^b	-2.41	0.31	0.08	0.15
CAG repeat	-0.34	-0.59	-1.36 ****	-1.43
Initial symptom ^c	3.14	1.27	-1.27	1.52
Visit time	-0.68	0.96 ***	-0.60	-0.21 **
Initial symptom X Visit time	0.12	-0.83 *	-0.57	-0.36

	Regression coefficients of PHQ-9 score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.04	0.00	0.18 *	-0.05
Sex ^b	-0.05	-1.41	1.91	-0.88
CAG repeat	0.19	-0.07	0.35	-0.87
Initial symptom ^c	-8.35 *	2.63	1.52	0.51
Visit time	-1.07	2.06	0.64	-0.80
Initial symptom X Visit time	1.18	-1.81	-0.05	0.75

	Regression coefficients of EQ-5D score^a			
	SCA1	SCA2	SCA3	SCA6
Age of first visit (yrs)	0.04	0.03 *	0.08 ****	-0.03
Sex ^b	-0.13	-0.30	0.04	0.23
CAG repeat	0.13	0.11	0.20 ***	-0.10

Regression coefficients of EQ-5D score^a

	SCA1	SCA2	SCA3	SCA6
Initial symptom ^c	-1.64 [*]	0.54	-0.20	0.32
Visit time	-0.17	-0.33	-0.03	-0.04
Initial symptom X Visit time	0.29	0.22	0.25	0.19

Abbreviations: SARA = Scale for Assessment and Rating of Ataxia; UHDRS = Unified Huntington's Disease Rating Scale; PHQ-9 = Patient Health Questionnaire; EQ-5D = quality of life measurement from 5 domains; GEE = Generalized Estimating Equation; SCA = Spinocerebellar Ataxia.

^a All regression coefficients were calculated in GEE model, adjusting for age of first visit, sex, CAG repeat, initial symptom, and initial symptom*visit time.

^b Man = 0, Woman = 1

^c Non-gait-onset = 0, Gait-onset = 1

^{*} <0.05

^{**} <0.01

^{***} <0.005

^{****} <0.001